
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multiplikasjon av polynom

(8x + 3)(5x + 3) (4 + 8x)(3x − 2)

(9x − 9)(3x − 4)2 (6x − 5)(8x + 7)2

(1 + 7x (5x − 8)2) (7 + 8x (4x + 3)2)

(3 − 8x (9x + 8)2) (x − 4)(2x + 5)

(8 + 7x (7x − 4)2) (2x − 4)(6x − 2x − 2)2
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Multiplikasjon av polynom

(8x + 3)(5x + 3)

40x + 39x + 92

(4 + 8x)(3x − 2)

24x − 4x − 82

(9x − 9)(3x − 4)2

27x − 36x − 27x + 363 2

(6x − 5)(8x + 7)2

48x + 42x − 40x − 353 2

(1 + 7x (5x − 8)2)

35x − 56x + 5x − 83 2

(7 + 8x (4x + 3)2)

32x + 24x + 28x + 213 2

(3 − 8x (9x + 8)2)

−72x − 64x + 27x + 243 2

(x − 4)(2x + 5)

2x − 3x − 202

(8 + 7x (7x − 4)2)

49x − 28x + 56x − 323 2

(2x − 4)(6x − 2x − 2)2

12x − 28x + 4x + 83 2
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